Re your queries

QA1: Yes, correctly cited

QA2: I most certainly meant the following. 

yit= β0+ β1Weekit+ β2Drugi + β3(Drugi(Weekit)

             +β4Dropouti + β5(Dropouti(Weekit)

             +β6(Dropouti(Drugi) + β7(Dropouti(Drugi(Weekit)

              +ui1+ uWeekit+ ε
I cannot understand how my text has become converted to Greek letters.

QA3: should be Bern throughout

QA4: on p 503, line
49,change “Multiple imputation” to “Multiple imputation (MI)”

QA5; Yes, fine

QA6: Don’t Know

QA7: Should be American Political Science Review

PAGE
LINE
CHANGE

495
37
Change “For MNAR,” to “For the MNAR case,”

497
37-41
Should be           yit=(0+(1Weekit+β2Drugi+β3(Drugi(Weekit)

             +β4Dropouti+β5(Dropouti(Weekit)

             +β6(Dropouti(Drugi)+β7(Dropouti(Drugi(Weekit)

              +ui1+uWeekit+ε

500
23
At top of summation sign j is subscript to m, namely

Pr(yij=k)=exp(k(j(i-(jk)/ [eq \O((,k=0,mj)exp(k(j(i-(jk)]

Otherwise no mistakes

501
7
Should be

P(Yi, Xi|Fi) = P(Yi|Xi,Fi)P(Xobs,i,Xmis,i|Fi).

Vertical line near end (before Fi)

501
16
Change sentence starting “If Fi and Gi are of the …Holman and Glas (2005)” to “Fi and Gi might be taken as correlated and non-ignorability assessed as in Holman and Glas (2005).”

501
24-25
should be q1 (q with 1 a subscript) where indicated in red in “..may be categorical {Xi1,..Xiq1} and continuous (Xi,q1+1,..Xiq}..”

501
31
Please change subscript m to subscript q where indicated in red

p(Xi1,..Xiq|(} = 

         p(Xiq|Xi,q-1,…Xi1,(q}…p(Xi2|Xi1,(2)p(Xi1|(1)                

502
10
Please add vertical line where indicated in red 
pr(Xi5=1|Xi1,Xi2,Xi3,Xi4,(5)



502
16
change 14.6 to 14.7

502
30
Change (28R1i to

(28Ri1

502
36
change “included” to “found to be significant”

502
40
no space between slash ans winmice.htm

503
49
Change “Multiple imputation” to “Multiple imputation (MI)”

505
39
Please change (Mi,i to (MI,i  

505
41
Please change (Mi,i to (MI,i  

505
44
Please change (Mi,i to (MI,i  

507
7
Please omit the equation number (14.6.1)

507
12
Please change the equation number (14.6.2) to (14.6)

508
15
change “members of cells” to “positives in cells”

508
34
should be K=(hLh not K=(nLh

510
5-6
please rearrange phrase “and Y2 be subject to incomplete response with levels j=1,..J (e.g. Park and Brown, 1994).” to 

“and Y2 with levels j=1,..J be subject to incomplete response (e.g. Park and Brown, 1994).

510
11
Should be N=(i(j(knijk

510
29
Should be (k(k=0

510
39
Should be eq \O((,i)

eq \O((,j)(ij=1

510
43
Should be N=(i(j(knijk

511
1
Should be (i(j(k subscript of second ( sign j not k

511
22
change “in 14.5.1” to “in section 14.6.1” 

512
3
space after (ij=(

512
14
space after 60)

513
7
change (yes, no or unknown) to (yes, no or don’t know, DK)

513
11
space between Y2 and (Y2=1)

513
22
change “under an” to “under a”

514
37
capital Pi is being used here as a symbol not a product sign. Needs to be same size as (1 in line 40. (Three times)

514
40
(2 needs to be smaller – same size as (1

514
42
change “of the Qi” to “of the ui1” 

515
14
comma after cells in “Of the 27 cells”

515
15
change “there are 18 types of partially” to “there are 18 partially”

515
31
change “V1 persons” to “V1 positive responses”

515
37
needs subscripting as follows

p( p( p(

515
41
change “latent member” to “latent positive”

516
27
change section 14.5 to 

    section 14.6

516
35
( needs subscripting 

Xi|Wi ~ NC(Wi,)

mu, subscript W, sub-subscript i

516
38
( needs subscripting. Also change t to lower case:

Xi|Wi ~ tC(Wi,()

mu, subscript W, sub-subscript i

518
13
need several spaces between } and j=1,..,4

(ij=(1-(ij)pij/{(1-(i1)pi1+(1-(i2)pi2+(1-(i3)pi3+(1-(i4)pi4}            j=1,…,4.



520
14
Should be

pi=(eq \o(b,i)xi+ (eq \o(w,i)(1-xi)

w is superscript and i is subscript

520
22
change to “section 14.6”

520
35
Please change to subscript where shown (that is a subscript to a superscript)

 eq \O((,i=1,n){[(eq \o(b,i)xi+ (eq \o(w,i)(1-xi)]Si[1-(eq \o(b,i)xi- (eq \o(w,i)(1-xi)] Ni –Si
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520
39
Please change to subscript where shown (that is a subscript to a superscript)

[(eq \o(b,i)xi+ (eq \o(w,i)(1-xi)]Si[1-(eq \o(b,i)xi- (eq \o(w,i)(1-xi)] Ni –Si[(eq \o(b,i)]ab-1(1-(eq \o(b,i)) bb-1


520
43
Please change to subscript where shown (that is a subscript to a superscript)

[(eq \o(b,i)xi+ (eq \o(w,i)(1-xi)]Si[1-(eq \o(b,i)xi- (eq \o(w,i)(1-xi)] Ni –Si[(eq \o(w,i)]aw-1(1-(eq \o(w,i)) bw-1

521
9
Should be

(eq \o(w, it)=(eq \o(w, t)+ (eq \o(w, i)
namely, subscript i at end not subscript it

521
14
space between C and (C>2)

521
16
space between R and (R>2)

521
28
Change “A Dirichlet prior on the (irc is assumed with parameters that may involve..” to

“A Dirichlet prior on the (irc is assumed with parameters (irc that may involve..”

523
penultimate column of Table
Change CAC to PAC

524
3
should be

nr*c*=0

524
5
Change subscript s to c in equation, namely

logit(prc) = M+(r + (c + εrc

524
Table 14.4
Top part of Table is wrong. Should be zero in same line as 7 and 8.

In bottom part of Table alignment of columns is wrong. Rural, Town and Small City should be aligned equally rather than the large gap between Town and Small City as at the moment

525
19
Please omit brackets around sum sign
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